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Section : Part A General Intelligence and Reasoning

Q.1 Five friends, P, Q, R, S and T are sitting in a row facing south. Q is sitting in the centre
position. P is sitting at the west end. T and R are sitting on one side of Q. Two persons
are sitting between P and R. Who is sitting between Q and P?

Ans X' 1.Q
X2T
3.9
X 4.R

Question ID : 65497828355
Status : Answered
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Bhubaneswar : Odisha :: Aizawl : ?
Ans 4 1. Mizoram
& 2. Meghalaya
25 3. Manipur

25 4. Tripura

Question ID : 65497828354
Status : Answered
Chosen Option : 1

Q.3 Select the number from among the given options that can replace the question mark
(?) in the following series.

19, 23, 32, 48,73, ?
Ans  # 1.109

% 2.108
X 3.1
X 4.103

Question ID : 65497828351
Status : Answered
Chosen Option : 1

- SSC Success Batch

& A comprehensive 10 Months START FREE TRIAL
N Foundation Course (English Batch)




L]
www.byjusexamprep.com BX# Haesp

Q.4 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

13 26 39
30427
1716 15

Ans X 1.40
X 2.45
o 3.54
X 4.60

Question ID : 65497828341

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 In a certain code language, ‘ARROW’ is written as ‘FOOSE’ and ‘GERM’ is written as
‘THOR’. How will ‘MOWER’ be written in that language?

Ans X 1.SHORE
7 2. ROSHE
o 3. RSEHO
< 4. HORSE

Question ID : 65497828339
Status : Answered
Chosen Option : 3

Q.6 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

C2_X2CC_XX2_C2_X_C
Ans X 1.C2X2X
o 2. X2CX2
X 3. AXX2C
X 4.XCX2C

Question ID : 65497828350
Status : Answered
Chosen Option : 2
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Q.7 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

TR A

Ans 7 .‘
< [

o Te,

9 @
E

e lp

4
’-. -

are
ele

Question ID : 65497828343
Status : Answered
Chosen Option : 3

Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

SKH, PMG, MOF, JQE, ?
Ans # 1.GSD
X 2.SDF
X 3.GTD
X 4.HSD

Question ID : 65497828353
Status : Answered
Chosen Option : 1

Q.9 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.HIJ
X 2.QRS
X 3.DEF
4. NMP

Question ID : 65497828357
Status : Answered
Chosen Option : 4
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Q.10 Eight friends, A, B, C, D, E, F, G and H, are sitting in a straight line, all facing the north.
F is sitting between D and G. B is sitting between H and A. E is third to the left of G. G
is sitting at one of the corners. H is third to the left of C. Who is sitting between A and
E?

Ans X 1.B
X 2.H
X 3.D
& 4.C

Question ID : 65497828344
Status : Answered
Chosen Option : 4

Q.11  Two different positions of the same dice marked with the letters/symbols X, $. Y. &, Z and (@ are shown .
Select the letter/symbol that will be on the face opposite to the face having the symbol S.

Ans 1 &
X2 Z
X3 @
X4 X

Question ID : 65497828347
Status : Answered
Chosen Option : 1

Q.12 In a certain code language, ‘India is my country' means ‘8573’, 'Sam is my friend'
means ‘8634°, 'My country' means ‘73’ and 'Team India’ means ‘59’. What number is the
code for 'Country'?

Ans X 1.5
2.7
X 3.8
X 4.3

Question ID : 65497828358
Status : Answered
Chosen Option : 2

Q.13 ‘R+S’ means ‘R is the daughter of S’. ‘R-S’ means ‘R is the husband of S’.'‘R x §’
means ‘R is the brother of S’. If ‘T x V + Z’, then which of the following options is true?

Ans X 1.Tis the uncle of Z.
& 2. Tis the father of Z.
o 3. T is the son of Z.
X 4.Tis the brother of Z.

Question ID : 65497828363
Status : Answered
Chosen Option : 3

- SSC Success Batch

2 A comprehensive 10 Months START FREE TRIAL
N Foundation Course (English Batch)




www.byjusexamprep.com BYJU'S

EXAM PREP

Q.14 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium

Ans X 1.4,5,3,21
X 2.53,4,1,2
3.54,31,2
X 4.4,531,2

Question ID : 65497828349
Status : Answered
Chosen Option : 3

Q.15 Select the option that is related to the third term in the same way as the second term is
related to the first term.

BLOCK : LBPKC :: MARGIN : ?
Ans X 1. OHQHBL
2. OHBHQL
7 3. OBHQHL
& 4. OHHQBL

Question ID : 65497828361
Status : Answered
Chosen Option : 4

Q.16 select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

o 1.

x 2.

x 3.

X 4.

Question ID : 65497828348
Status : Answered
Chosen Option : 1
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Q.17 Select the number from among the given options that can replace the question mark
(?) in the following series.

24, 40, 64, 104, ?, 312
Ans X 1.228
o 2.176
X 3.154
X 4.168

Question ID : 65497828359
Status : Answered
Chosen Option : 2

Q.18 In the following Venn diagram, the circle represents ‘vegetables’, the triangle represents ‘roots’, the square represents
‘hard soil’, and the rectangle represents *summer’. Which of the following letters represents root vegetables that grow in
sumumer but NOT in hard soil?

Question ID : 65497828356
Status : Answered

Chosen Option : 1

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number.

31:90::43:7?
Ans X 1.130
X 2.125
o 3.102

X 4.75

Question ID : 65497828345

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q.20 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the

statements.

Statements:
All blues are whites.
Some whites are greys.

Conclusions:
I. All greys are whites.
1l. All greys are blues.

Ans  # 1. Neither conclusion | nor conclusion Il follows
25 2. Only conclusion | follows
25 3. Only conclusion Il follows

4. Both the conclusions follow

Question ID : 65497828340
Status : Answered
Chosen Option : 1

Q.21 When a number is added to its multiple of 5 and its square, the sum of these three
numbers is 91. Find the number.

Ans X 1.9
X 2.1
3.7
X 4.6

Question ID : 65497828342

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.22 In a certain code language, ‘CIRCLE’ is written as ‘DLWAHY’. How will ‘SQUARE’ be
written in that language?

Ans X 1. TTPNKY
X 2. TNZYVY
o 3. TTZYNY
75 4. TNPYVY

Question ID : 65497828362
Status : Answered
Chosen Option : 3

Q.23 In an imaginary mathematical system, symbol '-' stands for addition, symbol '+' stands
for division, symbol 'x' stands for subtraction, and symbol '+’ stands for multiplication.
All other rules of mathematics are the same as in the existing system. What is the
value of the following expression?

240x72+8+24-6
Ans 4 1.30

75 2.36

5 3.26

X 4.19

Question ID : 65497828346
Status : Answered
Chosen Option : 1
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Q.24 select the correct mirror image of the given combination when the mirror is placed at 'PQ’ as shown.

p
MSAGI2CALI
Q

Ans X1 N8V CGISCVT
X2 TADED]LAEM
X3 NE8VICICVTI
vi TAIEIDAZM

Question ID : 65497828360
Status : Answered
Chosen Option : 4

Q.25 Select the figure from among the given options that can replace the question mark (?) in the following series.

[ E
—_— E
Ans
X 1.
X
4
X 2.
o 3
=
X 4

Question ID : 65497828352
Status : Answered
Chosen Option : 3
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Q.1 Which of the following Articles of the Constitution of India is related to the promotion
of co-operative societies?

Ans X 1.43A
o 2.43B
X 3.31A
X 4.31B

Question ID : 65497828376
Status : Answered
Chosen Option : 2

Q.2 Which of the following nations was India’s top trading partner in the financial year
2019-20?

Ans X 1.China
o 2. The US
25 3. Mauritius
& 4. Japan

Question ID : 65497828365
Status : Not Answered
Chosen Option : --

Q.3 After the death of Guru Gobind Singh in 1708, the Khalsa revolted against the Mughal
authority under the leadership of

Ans X 1. Guru Angad
#< 2. Guru Amar Das
+" 3. Banda Bahadur
5 4. Guru Nanak Dev

Question ID : 65497828385

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.4 Who among the following founded the newspaper ‘Sambad Kaumudi’?
Ans X 1.Rash Bihari Bose

" 2. Raja Ram Mohan Roy
25 3. Shishir Kumar Ghosh
X 4. Ishwar Chandra Vidyasagar

Question ID : 65497828366
Status : Not Answered
Chosen Option : --

Q.5 Which of the following set of countries participated in the Malabar Naval Exercise
20207

Ans X 1.India, Japan and the US
£ 2. India, Israel and the US
#< 3. India, Australia, Israel and the US

" 4. India, Australia, Japan and the US

Question ID : 65497828375
Status : Not Answered
Chosen Option : --
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Q.6 Sarayu river is a tributary of which river?
Ans X 1.Pindar

25 2. Bhagirathi
X 3. Tons
" 4. Sharda

Question ID : 65497828364
Status : Not Answered
Chosen Option : --

Q.7 On 26 January 2019, the Constitution of India completed 69 years of its existence. In
these years, it was amended times (as on 12 January 2019).

Ans X 1.100
o 2.103
X 3.109
% 4.106

Question ID : 65497828386
Status : Answered
Chosen Option : 2

Q.8 Which year marks the beginning of phase 2 of the Swachh Bharat Mission (Grameen)?
Ans o 1.2020-21

75 2.2019-20
#< 3.2018-19
X 4.2021-22

Question ID : 65497828388
Status : Answered
Chosen Option : 2

Q.9 Who among the following represents India in archery?
Ans " 1. Deepika Kumari

X 2. Soumyaijit Ghosh
25 3. Neeraj Chopra
#5 4. Manika Batra

Question ID : 65497828367
Status : Answered
Chosen Option : 1

Q.10 represents the high point of an eclectic art, which, in the 7th and 8th
centuries under the Chalukya dynasty, achieved a harmonious blend of architectural
forms from northern and southern India.

Ans X 1. Kochi
" 2. Pattadakal
2 3. Konark
& 4. Bhimbetka

Question ID : 65497828368
Status : Not Answered
Chosen Option : --
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Ans

Q.11 is known as viticulture.

& 1. growing vegetables, flowers and fruits

" 2. cultivation of grapes
25 3. breeding of fish

& 4. rearing of silkworms

Question ID : 65497828382
Status : Not Answered
Chosen Option : --

Ans

< 1. Viju Khote
/2. Shreeram Lagoo
4" 3. Girish Karnad

< 4. Mohammed Zahur Khayyam

Q.12 Who among the following is best known for his plays 'Yayati' and '"Tughlaq'?

Question ID : 65497828371
Status : Not Answered
Chosen Option : --

Ans

Q.13 Fagqir Chand Kohli, who passed away in November 2020, was known as the ¢
#< 1. Father of Indian Civil Services

X 2. Father of Indian Space Programme

< 3. Father of Indian Prehistory

4 4. Father of Indian Software (IT) Industry

Question ID : 65497828380
Status : Not Answered
Chosen Option : --

Ans

o 1.1:8
X2.1:4
X 3.1:2
X 4.1:16

Q.14 In a molecule of water, the ratio of the mass of hydrogen to that of oxygen is:

Question ID : 65497828370

Status : Marked For Review

Chosen Option : 4

Ans

Q.15 Union Minister of Education launched a free mobile app called

September 2020.
«" 1. EnglishPro

X 2. Beelinguapp
25 3. Duolingo
#< 4. Hello Talk

,on5

Question ID : 65497828387
Status : Not Answered
Chosen Option : --
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Q.16 a particles are doubly charged ions of
Ans X 1. lithium

25 2. beryllium
" 3. helium

& 4. hydrogen

Question ID : 65497828369
Status : Not Answered
Chosen Option : --

Q.17 Which of the following institutions started the 'Team Halo' initiative in November 2020?
Ans X 1. World Bank

" 2. United Nations
2% 3. World Health Organization
#< 4. World Trade Organization

Question ID : 65497828377
Status : Not Answered
Chosen Option : --

Q.18 With which of the following sports would you associate the team ‘Kerala Blasters’?
Ans 4 1. Football

X 2. Badminton

25 3. Kabaddi

X 4. Cricket

Question ID : 65497828383

Chosen Option : 3

Status : Marked For Review

Q.19 Which of the following is the traditional bamboo dance of the Mizos?
Ans X 1. Moyashai

#< 2. Udoho

" 3. Cheraw

X 4. Aaluyattu

Question ID : 65497828378
Status : Not Answered
Chosen Option : --

Q.20 The Third Battle of Panipat between the Marathas and Ahmad Shah Durrani , the ruler
of Afghanistan was fought in the year:

Ans X 1.1781
X 2. 1851
o 3. 1761
X 4.1831

Question ID : 65497828374
Status : Not Answered
Chosen Option : --
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Q.21 In November 2020, the Board of Control for Cricket in India (BCCI) announced
as Team India's kit sponsor till 2023.

Ans X 1.Byju's
% 2. Nike
«” 3. MPL Sports

< 4. Oppo

Question ID : 65497828381
Status : Answered
Chosen Option : 3

Q.22 Raja Todar Mal was the Revenue Minister during the reign of which of the following
Mughal emperors?

Ans X 1.Humayun
25 2. Shah Jahan
< 3. Jahangir
o 4. Akbar

Question ID : 65497828384
Status : Answered
Chosen Option : 4

Q.23 As per calculations done in 2011-2012, the poverty line for a person of rural India got

fixed at per month.
Ans o 1.2816
X 2.%752
< 3.%1,000
X 4.%687
Question ID : 65497828372
Status : Not Answered
Chosen Option : --
Q.24 Five rivers from Punjab (India) enter the river at Mithankot in Pakistan.

Ans o 1.Indus
#< 2. Yamuna

X 3.Ganga
5 4. Brahmaputra

Question ID : 65497828379
Status : Answered
Chosen Option : 1

Q.25 is a simple device that is used to either break the electric circuit, or to
complete it.

Ans X 1. Transistor
«" 2. Switch
5 3. Capacitor
X 4. Resistor

Question ID : 65497828373
Status : Answered
Chosen Option : 2
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1 The perimeter of an equilateral triangle is 36+/3 cm. Find its height.

Ans 1. 18 cm
<2 9cm
X3 10 cm
X4 6cm

Question ID : 65497828400
Status : Answered
Chosen Option : 1

Q2 A person crosses a 1600 m long street in 4 min. What is his speed (in km/h)?
Ans X1 22

X2 14

X3 20

o4 24

Question ID : 65497828398
Status : Answered
Chosen Option : 4

Q.3  Achair is sold for T720 after giving a discount of 10% on its marked price. The cost price of the chair is T640. If it is
sold at the marked price, then the profit percentage will be:

Ans X 1. 30%
X 2. 20%
X3 18%
4 25%

Question ID : 65497828407
Status : Answered
Chosen Option : 4

Q4 What is 12% of 4% of 7% of 2 X 108 ?
Ans X' 1. 386

< 2. 583

« 3. 672

X4 121

Question ID : 65497828403
Status : Answered
Chosen Option : 3
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Q.5 Asolid metallic rectangular block of dimensions 112 ¢m * 44 ¢cm * 25 cm is melted and recast into a cylinder of radins

35 em. The curved surface area (in cm?”) of the cylinder is: (Take n= ? )

Ans X 1. 7260
X 2. 6600
¢ 3. 7040
X 4. 6160

Question ID : 65497828413

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q6 Find the value of 45 —3 X (4 of 6+ 12 -3 X6 —4X5)+6.

Ans 1. —45
X2 —135
¥ =33
X4 =30

Question ID : 65497828408
Status : Answered
Chosen Option : 3

Q.7 By selling 36 m of jute, a shopkeeper gains an amount equal to the selling price of 12 m of jute. Find the gain
percentage.

Ans 1. 50%
X 2. 40%
X 3. 45%
X 4 55%

Question ID : 65497828409
Status : Answered
Chosen Option : 1

Q.8 Divide T2,760 in 10 two parts such that when these are invested for 2 and 4 years, respectively. at the rate of 5 % per
annum simple interest, the amounts received are equal. What is the second part (in ¥) invested?

Ans 1. 1,100
X2 1,500
« 3 1,320
X 4. 1,440

Question ID : 65497828396

. Not Attempted and
" Marked For Review

Chosen Option : --

Status
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Q.9 A 725 m long train passes a tunnel 235 m long in 48 seconds. Find the speed of the train.
Ans X1 42 km/h

¥ 2. 72 kin'h

X 3. 36 km'h

X 4. 100 km'h

Question ID : 65497828405
Status : Answered
Chosen Option : 2

Q.10 A batsman scored 124 runs, which included 6 boundaries and 10 sixes. What percentage of his total score did he make
by running between the wickets?

Ans

x 1. 28204
31

X 2 24194
31

« 3. 323%
31

3
X4 35—9
31'{'

Question ID : 65497828390
Status : Answered
Chosen Option : 3

Q.11 The salaries of Ravi and Sumit are in the ratio 4 : 5. If the salary of each is increased by T6.000 the new ratio becomes
35 : 40, What will be Sumir's increased salary?

Ans X 1. 26,000
X 2. 36,000
« 3 T16.000
X 4. ¥1,60.000

Question ID : 65497828399
Status : Answered
Chosen Option : 3

Q.12 Anu is four times as good as Binni in completing a task. Together they finish the same task in 7 hours. In how many
hours will Anu alone complete the task?

Ans X1 22
« 2. 35/4
X3 31/4
X4 24

Question ID : 65497828404
Status : Answered
Chosen Option : 2
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Q.13 The number of stdents in class IX and class X is 42 and 45, respectively. The ratio of the number of boys to girls in
classes is IX and X is 9 : 5 and 8§ : 7. respectively. What is the difference between the total number of boys and the total
mumber of girls in both the classes taken together?

Ans 1. 1]
X2 12
X3 17
¥4 15

Question ID : 65497828411
Status : Answered
Chosen Option : 4

Q.14 P Q and R can complete a work in 10 days, 20 days and 30 days, respectively, working alone. How soon can the work
be completed if P is assisted by Q and R on alternate days?

Ans

1
wal '?E days
X 2. 9 days
X 3. 5 days
X 4. 6% days

Question ID : 65497828410
Status : Not Answered
Chosen Option : --

Q.15 A joss of 10%% gets converted into a profit of 112% when the selling price is increased by ¥132.60. The cost price
(in T) of the article is:

Ans  X1. 750
X 2. 800
+ 3. 600
X 4. 500

Question ID : 65497828391
Status : Answered
Chosen Option : 3

Q.16 The greatest number that will divide 398, 437 and 5425 leaving 7. 12 and 2 as remainders, respectively. is:
Ans X 1. 1]

X2 15

3 17

X419

Question ID : 65497828393
Status : Answered
Chosen Option : 3
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Q.17 If the average of two numbers is 13 and the square root of their product is 12, then the difference between the numbers
is:

Ans s 110
X2 18
X3 8
X4 12

Question ID : 65497828394
Status : Answered
Chosen Option : 1

Q.18 The average of 10 observations is 46. It was realised later that an observation was misread as 42 in place of 142. The
correct average is:

Ans X1 52
X2 46
X 3. 58
4 50

Question ID : 65497828401
Status : Answered
Chosen Option : 4

Q.19 The ratio of A's and B's salary is 6 : 7. If B's salary is increased by 5294 then his total salary becomes ¥1,47,700. The
2
salary (in %) of A is:

Ans X1 1,10,000
« 2. 1,20,000
X 3. 1,40,000
X 4. 1,35,000

Question ID : 65497828395
Status : Answered
Chosen Option : 2

Q.20 The certain sum amounts to 79,982.50 in 2% years at 12% p.a., interest compounded 10-monthly. The sum (in 3) is:

Ans  X'1. 8,500
X 2. 7,800
X 3. 8,000
4. 7,500

Question ID : 65497828412

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Q21 A pine-digit number 89563x87y is divisible by 72. What is the value of \/7x — 3y ?
Ans x4 g
X2 5
3. 6
X4 4

Question ID : 65497828389
Status : Answered
Chosen Option : 3

Q22 Thevalueof3X 74+5— 6+3— 9+45+5X%X 4— 45 is:
Ans X1 9

26

X3 7

X4 36

Question ID : 65497828397
Status : Answered
Chosen Option : 2

Q.23 ATV was available for T14.500. The price came down to 11,890 during the Diwali sale. What is the percentage
discount?

Ans X' 1. 19.56%
X2 19%
3. 18%
X4 17.6%

Question ID : 65497828402
Status : Answered
Chosen Option : 3

Q.24 A shopkeeper sold an article at a gain of 20%. Had he bought it for 20% less than the original cost and sold it for T10
less, he would have gained 25%. Then the Cost Price of the article is:

Ans 1. F50
K 2. 340
X 3. T60
X 4. ¥45

Question ID : 65497828406
Status : Answered
Chosen Option : 1

SSC Success Batch
A comprehensive 10 Months START FREE TRIAL
Foundation Course (English Batch)




L]
www.byjusexamprep.com Bfﬂ Haesp

Q.25 A certain sum amounts to T13200 after 4 years and to T16400 after 8 years at the same rate per cent p.a. at simple

interest. The simple interest (in T) on the same sum at 10% p.a. for 3§ years will be:

Ans X 1. 4000
+ 2. 3200
X 3. 2500
X 4. 3500

Question ID : 65497828392
Status : Answered
Chosen Option : 2

Section : Part D English

Q.1 Select the most appropriate synonym of the given word.
Visible
Ans X 1. Secret
" 2. Apparent
X 3. Vague
& 4. Hidden

Question ID : 65497828415
Status : Marked For Review
Chosen Option : 2

Q.2 Select the most appropriate option that can substitute the underlined word in the
given sentence.

Microwave ovens heat food quickly, anxiously and safely, but do not brown or bake
food in the way that conventional ovens do.

Ans X 1.angrily
" 2. efficiently
X 3. beautifully
& 4. accidently

Question ID : 65497828416
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to fill in the blank.

A__ mind rarely meets a dead end; it continues the search for the answers.
Ans X 1. peculiar
& 2. weird
" 3. curious
X 4. strange

Question ID : 65497828419
Status : Answered
Chosen Option : 3

- SSC Success Batch

2 A comprehensive 10 Months START FREE TRIAL
N Foundation Course (English Batch)




O EMEE

www.byjusexamprep.com

Q.4 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

She left / hers umbrella / at the office.
Ans X 1.No error

4" 2. hers umbrella

2 3. She left

5 4. at the office

Question ID : 65497828414
Status : Answered
Chosen Option : 2

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A person who knows everything
Ans X 1.Naive

" 2. Omniscient
X 3. Intelligent
< 4. Omnipresent

Question ID : 65497828420
Status : Answered
Chosen Option : 3

Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Mohan told to / Sagar that he / was looking / very pale.
Ans X 1.very pale
#5 2. Sagar that he
" 3. Mohan told to
X 4. was looking

Question ID : 65497828422
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I’'m sure he will grab the chance to earn some extra money.

Ans " 1. No substitution required
X 2. of earns
& 3.to earned
& 4.to earns

Question ID : 65497828429
Status : Answered
Chosen Option : 1
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Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

One who examines a company'’s financial records
Ans X 1. Conductor

25 2. Author
" 3. Auditor
& 4. Instructor

Question ID : 65497828424
Status : Answered

Chosen Option : 3

Q.9 Select the most appropriate option to fill in the blank.
The doctor her to stop eating fried food.

Ans 4 1. advised

25 2. considered

X 3. arranged
& 4. expressed

Question ID : 65497828421
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

You need to get the cholesterol from out of your system.
Ans  # 1. out of your system

#5 2. No substitution required

& 3. out your system

25 4. from out off your system

Question ID : 65497828430
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.
A dialogueisa___ between two or more people.
Ans  # 1. conversation
25 2. commission
X 3. convertible

25 4. conversion

Question ID : 65497828427
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate meaning of the given idiom.

Play for time
Ans X 1. To do something in the stipulated time

" 2. To make excuses or do things to gain time
25 3. To play something for the sake of old times

25 4. To play music in the time provided

Question ID : 65497828428

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 Select the INCORRECTLY spelt word.
Ans  # 1. Aniversary

X 2. Felicitate
X 3. Congratulations
X 4. Response

Question ID : 65497828418
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate meaning of the given idiom.

To breathe one’s last
Ans X 1. To take a major decision
5 2. To give final verdict
25 3. To make a plot
" 4. To die

Question ID : 65497828417
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.
Ans X 1. Delivery

X 2. Stationary
«# 3. Dictionery
#< 4. Voluntary

Question ID : 65497828425
Status : Answered
Chosen Option : 3
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Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Neither the manager / nor the employees was / aware of the / shortage of raw
materials.

Ans X 1. Neither the manager
25 2. shortage of raw materials
4 3. nor the employees was

& 4. aware of the

Question ID : 65497828431
Status : Answered
Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

Anything that leads to death
Ans X 1. Scary

#< 2. Serious
«" 3. Fatal
< 4. Ominous

Question ID : 65497828433
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate ANTONYM of the given word.

Vital
Ans X 1. Critical
2. Trivial
& 3. Manual
25 4. Crucial

Question ID : 65497828423
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate ANTONYM of the given word.
Precarious
Ans . 1. Safe
< 2. Dangerous
25 3. Uncertain
& 4. Perilous

Question ID : 65497828426
Status : Not Answered
Chosen Option : --
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Q.20 Select the most appropriate SYNONYM of the given word.

Threat
Ans X 1. Suggestion
5 2. Proof
X 3. Attention
«" 4. Risk
Question ID : 65497828432
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is
seen reddened, as well as the light coming directly from the sun.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.is
o 2. appears

#< 3. has appeared
& 4. appeared

Question ID : 65497828435
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed

a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans

& 1. has

< 2. was
2 3. will be

o 4. has been

Question ID : 65497828436
Status : Answered
Chosen Option : 4
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Q.23
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed

a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 23
Select the most appropriate option to fill in blank no. 3.

X

% 2. but
o 3. 0r
< 4.and

Question ID : 65497828437
Status : Answered
Chosen Option : 3

Q.24
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed

a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 24
Select the most appropriate option to fill in blank no. 4.

&1, for
o 2. due to

5 3. because
&K 4. as

Question ID : 65497828438
Status : Answered
Chosen Option : 2

Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When the air is clear, the sunset (1) yellow, because the light from the sun has passed
a long distance through air and the blue light (2) scattered away. If the air is polluted
with small particles, natural (3) otherwise, the sunset will be more red. Sunsets over
the sea may also be orange, (4) salt particles in the air. The sky (5) the sun is

seen reddened, as well as the light coming directly from the sun.

SubQuestion No : 25
Select the most appropriate option to fill in blank no. 5.
< 1. across

25 2. through

< 3. along
¥ 4. around

Question ID : 65497828439
Status : Answered
Chosen Option : 3
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Q1 o M WA F T 999 Suge Mg T 99 B
GiEl ¥ Wl § gafere BTy wgand 8

Ans X 1. eRdl
X 2. HaAl
o 3. Yl
X 4. BT

Question ID : 65497828446
Status : Not Answered
Chosen Option : --

Q.2 YUY H, TP eg IR -3 UPR I fore@m mar 8, Sorad & S0 v S Jgi dnr d
forar mar 21 F) g aTet Xeg BT 9T BI|

Ans X1.3Fﬂfﬂ$l?
X 2. B R
o 3. SFAER
X 4. 3AfiER

Question ID : 65497828444
Status : Not Answered
Chosen Option : --

Q.3 fou Y are ¥ Y@ifed Ws &1 ufaATid $ & g va Suged fawen &1 aa #31
Tfg 30 ufoRAid B B maxa®ar 781 ©, a1 ey fFdt agara &1 snaxaear 78 @

BT IgT B

T g F FA T IAE W P T8 HR Tobar [P 98 ARl B

Ans X 1. T T P G DI A
X 2. %8 T B g 1 fgwa

X 3. o<t seara F snaxadmar T B

o 4. TR T &I T &1 gy

Question ID : 65497828447
Status : Not Answered
Chosen Option : --

Q.4 fog g wreg 1 faem g1
&
Ans 1 TR
X 2.915d
X 3.8
X 491

Question ID : 65497828448
Status : Not Answered
Chosen Option : --
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Q.5 fou Y arey ¥ Y@ifed s @1 ufaid $31 & g wa Suged fawen &1 aa &3
Tfg 38 UfoRATid B B axaHdr e €, al fiwed fhdY agara &1 smaxaedr 78 @
BT TG B
o |} R $© Fus @ emA|

Ans X 1. TR®!

X299
o 3. [ Seama @t sravaddr T 1
X 4. MNP

Question ID : 65497828450
Status : Not Answered
Chosen Option : --

Q.6 3T T g & FHHATH Weg BT T B
A
Ans X 1. 3iftg

X 2. 3d
o 3. 3Rfd<
X 4. 3maaA

Question ID : 65497828452
Status : Not Answered
Chosen Option : --

Q.7 H 7 A 21 - ¥t weg @1 FfE FargU-
Ans .z 1 T & SR

X 2. T & HRU

X 3. faQvr & SR

X 4. FRG & HRO

Question ID : 65497828456
Status : Not Answered
Chosen Option : --

Q.8 YUYW, TP Vg IR -3 UHR | foram 1 8, Oraw & baa to &1 qgt a1 d
foram ar 81 W) g aTd XMeg PT AT B

Ans X 1. T@EM
2. HIGEH
X 3. afEA
X 4. wqfed

Question ID : 65497828445
Status : Not Answered
Chosen Option : --
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EXAM PREP

Q.9 fYad WM #1 WA & FIT e Iuga fawew &1 7= #¥1
A R m@arfEeg@dem

Ans

o 1. T
X 2.
< 3.qeT
X 4. SRTYAT

Question ID : 65497828459
Status : Not Answered
Chosen Option : --

Q.10 gg q7d & &= WIYR § Tadt o 3 @ 39 areuiwr & fore uep ardfes wreg difdrui

Ans X 1. UGS
o 2. [hacdt
X 3. fhoda

X 4. HUE-HiAd

Question ID : 65497828440
Status : Not Answered
Chosen Option : --

Q.11 3T T A & T 2eg BT 99T B

bl
o 1. ST

X 2.q8M
7 3. 3T
X 4 fagm

Ans

Question ID : 65497828443
Status : Not Answered
Chosen Option : --

Q.12 g fFaw ¥ v a1 arei & fore ve s 8-

Ans X 1. faarg
75 2. 9dig
X 3.q1¢

o 4. 3ae

Question ID : 65497828455
Status : Not Answered
Chosen Option : --

Q.13 «3if@ AT HETaY BT T Y §-
X 1. T e ST

X 2. 3t d e g

X 3.7 TS

o 4. JUDT 3T

Ans

Question ID : 65497828454
Status : Not Answered
Chosen Option : --
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Q.14 ﬁaﬁ%@auaﬁ,ﬁquﬁwﬁﬁﬁ,wﬁmmmﬁ,ﬁ@maﬁm
HIAT !

YT H ST
Ans X 1. TF A a1
X 2. FOu Hfeq
X 3. 3y g
o 4. HIA RN & U U

Question ID : 65497828449
Status : Not Answered
Chosen Option : --

Q.15 TUEIY ST THFY Jedich- B ara’ b T T g fifae-
Ans X' 1. REAF

X 2. Sfa

X 3. fomg

o 4. THIED

Question ID : 65497828458
Status : Not Answered
Chosen Option : --

Q.16 3w 7Y gy | ¥@ifrd W Y ufawitiua @34 & fore 9aw Suged fAwey &1 9a7 o3|
Tfe 32 ufaenfia w3 ot smaxasar 161 7, @t fawed bt agara $t srazawar T8 ¥
T TG B
T M1 I B AT E
Ans X 1. 5t Sgaa @ savaddr TE B
X 2.1 et
o 3. 1 3k
X 4. F

Question ID : 65497828453
Status : Not Answered
Chosen Option : --

Q.17 3T T a7 BT a8 YT T1d Y forgd a1 R 81 aR A IR 78 2, A g R & &
fawe & A

RYE Ugad 8 98 B 3
Ans X 1. T @R fear
X 2. @RI TR
X 3. RIA UgTd &
& 4.TE

Question ID : 65497828442
Status : Not Answered
Chosen Option : --
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Q.18 %gwmmagmmﬁﬁﬂﬁaﬁizﬁél R FE IR AP IR T
|

g 3 (1) &Y srearue (2)/ B gA | (3) B I AL 3(4)
Ans 1.3
X 2.4
X 3.2
X4

Question ID : 65497828451
Status : Not Answered
Chosen Option : --

Q.19 e RIF WA F Y T IUgT Weg BT 994 B
AT E

Ans X 1.7¢H

o 2.9

X 3.dle

X 4.9

Question ID : 65497828441
Status : Not Answered
Chosen Option : --

Q.20 Hgg - ¥@ifhd Weq o1 He! fAdIH FaZe-
Ans .z 1. guld

X 2. 78

% 3. @HE

X 4 &

Question ID : 65497828457
Status : Not Answered
Chosen Option : --

Comprehension:

TR T U] U T Uil b IR ferfau-

T a1y 3| fieme I A9 ¥ 37 ToRd $R sHegde Yo #Rd 3| U o i RR R
e, AU F eI A e & e ue facel urelt | foeeh & foe go &t sevd ueh - at T @kl
PR AN TG DI J-GHTA & o8 AR Bt SATaadhdl Ut | Afga I WM &R ot | IRaR &1
T TR e BTVl R BT 8T bl J Dl Il T Hifde 3Mpiensit o7 Sa-srened a1
¢ T b TRAT 1 6T T A & fold & i T Sardm o1l IR & It & e wnelt ot
U T STHYC g1 A I8 ST & | e BT dIcqy I8 ¢ b 51 §AR 6T T 3R &1 &1 1|

SubQuestion No : 21
Q.21 |1y 3o fyaf T Har 41| e =i 31 gfif i
Ans o 1. fligred B

X 2. 5=l 3l yglax

X 3. THd IRPb

X 4. T IR

Question ID : 65497828461
Status : Not Answered
Chosen Option : --
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Q.22

Ans

Comprehension:

TR T U] U T Uil b IR ferRau-

T a1y 3| feme ¥ A9 ¥ 37 TORd $R sHegde Yo #Rd 3| U o i RR iR
TG!S & ggi A FAue & oy T et arel | et & e g &1 Sexd get - df T TRie
PR AN TG DI A-THTA & o8 AR Bt I st | Afga I Tl &R ot | IRaR &1
T TR e BTVl R BT 08T bl I Dl I T Hifde 3Mpiensit o1 Sa-siened a1
¢ T {6 TRAT 1 6T T A & o & H T Sardm o1 IR & I & e wnet ot
o= T STHYC g1 A I8 ST 8| e BT dIcqy I8 ¢ b 51 §AR 6T T 3R &1 S 1|
SubQuestion No : 22
"ATTIHAT & I R 3fa eg fafawi

< 1. 3T

o 2. S

< 3. uRem

X 4. 3@

Question ID : 65497828462
Status : Not Answered
Chosen Option : --

Q.23
Ans

Comprehension:

TR B UgehR e T Ul & IR ffee-

T Oy ¥ fgTes 3 79 ¥ i TOIRd iR SHagd® Yol $d 31 T & Aeardiam RR
TG, FUSt & gl ¥ FAue & fore ues et urelt) faweht & fore gy o) orRea o€t - @ T @l
HR Y| TG DI ITO-HHTA & o AR BT STa=adsar Ul | Higan 9 M) & &t | URaR &1
A TR A HeT0] B BT AT Hal o Pl aal T N STHiensht BT Sa-sraret ga-T
3 T o5 TR 1 6T I HRA & o @ it T Saran o I e It A e St ot
JuHT T STHYC € [N I8 ST 8| P BT aid I8  fob 86 §HR & P 3R &4 T A1 |

SubQuestion No : 23
HE@IHia Y@ifed Weg o1 3fa o fafami
X 1.801q
X 2. & A g
o 3. AT DI U B DI 53T
X 4. 9qaF g1

Question ID : 65497828463
Status : Not Answered
Chosen Option : --

Q.24
Ans

Comprehension:

TR B UgehR e T Ul & SR e

T U1y ¥ femes 3 79 ¥ i TORd iR SHagdd HoiF $d 31 TP & Aeardiam RR |
TG, FUSt & gl ¥ fFAue & fore ues facett urelt) faweh & fore gy ) sreva o€t - & T @i
PR AN TG DI F-HHTT & o4 Afga &t sa=adhdl el | Afger 9 qmdl & ot | aRar &1
T §IPR TIb BTl DI BT Aed Pal o Hel gl 17| Hifdes 3MTehiensi o7 Sa-Soire ST
g T o5 TR 1 6T I FHRA & o @ it T Saran o I e It H We St ot
U= T SHYC € A I8 ST 8| e BT dicdy I8 © 6 g §AR 7167 T 3R &1 &1 91|
Sub